Limit Laws Suppose that ¢ is a constant and the limits

lim f(x) and lim g(x)

exist. Then
1. llm [ f(x) + g(x)] = 11m flx) + l1m g(x)

2. lim [ f(x) — g(x)] = lim f(x) — lim g(x)

X—da X—a X—a

3. lim [¢f(x)] = ¢ lim f(x)

X—da X—a

4. lim [ f(x)g(x)] = lim f(x) + lim g(x)

X—da X—a X—>a

5. lim = = if lim g(x) # 0

r—a g(x)  lim g(x) x—a

X—*a

6. lim[f(x)]" = [lim f(x)]" where n is a positive integer

A Xoq
7. lime = ¢ 8 limx =a

X—*q N—*a

9. lim x" = a" where n is a positive integer

10. lim \/; = \'/; where n is a positive integer

xX—a

(If n 1s even, we assume that a > (.)

1. lim Jf(x) = Jlim f(x) where n is a positive integer

Ny

[lf n is even, we assume that lim f(x) > 0,

N



